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**For items (1-35), read each sentence carefully then choose from A, B, C or D the
correct answer that completes each sentence.

1) If you get an interview for a job, you will need to show that you have good listening skills
and a clear speaking voice. You will also need to show that you can think quickly and that
you are able to concentrate for long periods of time. If you are successful, it is a secure
and rewarding job. It is a very responsible job. I am aware that if I translate things badly,
it could affect an important law or trade agreement between countries. However, you get a
huge feeling of satisfaction when you know that people understand everything that you
translate.

- An interpreter gets a great feeling of satisfaction when he / she ——--- .
A) has good listening skills

B) has a clear speaking voice

C) knows that people understand everything that he / she translates

D) is able to concentrate for long periods of time

2) My job now involves going to important conferences and seminars around the world.
When a person speaks in English at a conference, I listen to what they say through
headphones. I then translate into Arabic while the speaker is talking. I give the translation
through headphones to other people at the meeting. This means that anyone in the room
who speaks Arabic can understand what people are saying. It is a very responsible job. I
am aware that if I translate things badly, it could affect an important law or trade
agreement between countries.

- The sentence in the above text which states the effect of bad translation i§ -=---- .

A) My job now involves going to important conferences and seminars around the world

B) When a person speaks in English at a conference, I listen to what they say through headphones
C) I give the translation through headphones to other people at the meeting

D) I am aware that if I translate things badly, it could affect an important law or trade

agreement between countries
SEE PAGE TWO....
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3) We’re having an examination in ------ tomorrow.
A) geometry B) philosopher C) polymath D) effect

4) The painters ------ many fine works of art.
A) produce B) production C) productive D) product

5) My parents have been the most ------ people in my life.
A) chemist B) influential C) physician D) arithmetic

------ can separate a medicine into its components.
A) mathematician B) dominate C) chemist . D) scales

7) The teacher examined the students in the ------ Iesson.
A) negotiate B) patient C) conflict D) previous

8) After lengthy talks, the two sides finally reached a ------ .
A) invention B) youth C) compromise D) succeed

9) After the talk, there will be a chance for you to - about anything you don't understand.

A) shake hands B) ask questions C) make a mistake D) earn respect
10) People who respect themselves quickly ------ of others.

A) shake hands B) ask questions

C) earn the respect D) join a company

11) Marwa finds her work exciting and ------ .
A) translation B) qualifications C) headphones D) rewarding

12) We installed an alarm to keep the house ------ .
A) secure B) interpreter C) regional D) seminar

13) My father ------ loves exploring historical Roman ruins will certainly find a visit to Qasr
Bashir very interesting.
A) who B) when C) which D) where

14) The Olympic Games were held in London in 2012 CE.
- The correct cleft sentence that emphasises the information in bold is ------.
A) in 2012 CE that the Olympic Games were held in London

B) Itis in 2012 CE that the Olympic Games were held in London

C) It was in 2012 CE that the Olympic Games were held in London

D) It in 2012 CE that the Olympic Games were held in London

15) The cake ---—--- my mother made tasted really great.
A) who B) that C) when D) where
SEE PAGE THREE....
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16) It ------ 11 p.m. when I stopped working.
A) be B) is C) was D) been

17) The heat made the journey unpleasant.
- The correct cleft sentence that emphasises the information in bold is ------ .
A) It was the heat which made the journey unpleasant
B) It is the heat that made the journey unpleasant
C) It was the heat which makes the journey unpleasant
D) It is the heat which made the journey unpleasant

18) I like Geography most of all.
- The correct cleft sentence that emphasises the information in bold i ~-=--n .
A) The subject that I like most of all is Geography
B) The subject I like most of all was Geography
C) That the subject I liked most of all is Geography
D) That I like most of all is the Geography

19) “Physician” is an old-fashioned word ------ means “doctor”.
A) when B) who C) where D) which

20) Rasha could not find her way round the city very easily.
- If only she ------ a map.
A) has B) have had C) had had D) had

—————— Jabir Ibn Hayyan did his research was Iraq.
A) The person who B) It is the country which
C) The country where D) It was the country which

22) I wish I had done more work for my exam.

- This sentence means that ------,
A) I didn’t do much work for my exam B) I did much work for my exam
C) I had done much work for my exam D) I do much work for my exam

23) Yaser has lost his wallet.

- The sentence that has a similar meaning to the one above is ------ .
A) If only he had been more careful B) If only he hadn’t been more careful
C) If only he had more careful D) If only he be more careful

24) 1 don’t know how to use this machine.
- The sentence above can be rewritten as------ .
A) If only I had known how to use this machine

B) If only I didn’t know how to use this machine
C) If only I know how to use this machine
D) If only I knew how to use this machine

SEE PAGE FOUR.... |
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25) If only it ---—- the summer holidays. (but it isn’t- I’'m at school)
A) is B) are C) was D) be

26) I stayed late at work and missed the last bus. I wish I -~--—-

A) didn’t stay B) stayed C) hadn’t stayed D) had stayed
27) Huda was too busy to visit us yesterday. I wish she ----—- to come.
A) able B) has been C) is able D) had been able

28) Ibrahim was right and I was wrong. [ ------ I had listened to him.
A) only B) wish O if D) if only

29) If children ------ outside, they get overweight.
A) don't play B) doesn't play C) didn't play D) hasn't played

30) If it rains, we ------ the match.
A) would cancel B) cancelled C) cancels D) will cancel

31) If Ashraf had gotten up early, he ------ late for work.
A) will not have been B) won’t have
C) have been D) wouldn’t have been

32) Masdar City ------ which began its development in 2006 CE ----———-- will be the world’s
first carbon —neutral ------ zero — waste artificially —created city.
A,/ ./, B), /; /. O, 7,7, D)./ ./.
33) Do you think the wheel was the most important ------ ever ------
A)envention / . B) invention / ? C) invantion / . D) invension / ?

34) The sentence which has the correct order of the words and phrases below is ------ .
(sources, renewable, energy, run, entirely, will, city, the, on)
A) renewable energy sources run will entirely on the city
B) the city will run entirely on renewable energy sources
C) the energy renewable sources entirely will run on city
D) the city sources will run on energy entirely city

35) The sentence which represents a conclusion to a review of a restaurant is ---—-- .
A) I'would very much like to visit Paris again and I enjoyed the view very much
B) Throughout my stay, I experienced some negative aspects of service such as lack of
towels
C) The service could be improved, but it didn't detract from a fairly stay
D) I recommend this restaurant to anyone interested in Parisian food

SEE PAGE FIVE....
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Question Two:

Read the following texts carefully, and then in your ANSWER BOOKLET answer all
the questions that follow each text. Your answers should be based on the two texts.
(50 points)

Text One: (25 points)

Ibn Bassal was a writer, a scientist and an engineer who lived in Al-Andalus in the

eleventh century CE. He worked in the court of Al-Ma’mun .His great passion was botany.

Ibn Bassal was a practical man and all of his writing came from his own ‘hands-on’

experience of working the land. One of the many things which Ibn Bassal achieved was A

Book of Agriculture. The book consisted of sixteen chapters which explain how best to

grow trees, fruit and vegetables, as well as herbs and sweet-smelling flowers; perhaps the

most famous chapter of all was the one that described how to treat different types of soil.

He designed water pumps and new systems for irrigating plants.

The influence of Ibn Bassal’s book was enormous. As farmers down the generations

followed his instructions and advice, the land became wonderfully fertile and produced

more than enough food for the fast-growing population. The irrigation systems that he and

his followers put in place are still in evidence in Spain. Although his name is not widely

known, Ibn Bassal’s legacy to the world has been great.

1. Where did Ibn Bassal live? When?

2. Quote the sentence which shows where all Ibn Bassal's writing came from.

(4 points)

(5 points)
3. How many chapters did A book of Agriculture consist of? (4 points)
4. What does the most famous chapter of Ibn Bassal's book describe? (4 points)

5. Find a word in the text which means "supplying land with water so that the crops and

plants will grow". (4 points)

6. What were the two benefits for farmers who followed Ibn Bassal's instructions?

(4 points)

SEE PAGE SIX....
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Text Two: (25 points)
In this report, we will look at the countries that Jordan trades with and what goods it

exports and imports. First, let’s look at exports. Jordan is rich in potash and phosphate, and
the extraction industry for these minerals is one of the largest in the world.

Not surprisingly, two of Jordan’s largest exports are chemicals and fertilisers.
Pharmaceuticals and other industries represent 30% of Jordan’s Gross Domestic Product
(GDP), and 75% of Jordan’s pharmaceuticals are exported. However, the majority (65%) of
the economy is dominated by services, mostly travel and tourism. Most of Jordan’s exports
go to Iraq, the USA, India and Saudi Arabia.

Now let’s look at imports. Unlike some other countries in the Middle East, Jordan does
not have large oil or gas reserves. For that reason, Jordan has to import oil and gas for its
energy needs. Its other main imports are cars, medicines and wheat. In 2013 CE, 23.6% of
Jordan’s imports were from Saudi Arabia. This was followed by the EU, with 17.6% of its
imports. Other imports have come from China and the United States.

1. Most of Jordan's exports mainly go to four countries. Write two of these countries down.
(4 points)
2. What is the percentage that services, especially travel and tourism, represent of Jordan's
economy? (4 points)
3. Jordan is rich in two minerals. Write them down. (4 points)
4. What does the underlined pronoun "it" refer to? (4 points)
5. Quote the sentence which indicates the country that supplied Jordan with most of its
imports in 2013. (5 points)
6. What are the main four goods that Jordan has to import from different countries?
(4 points)

Question Three:

Writing: (10 points)

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the
following:

1. A visit you have made to a museum or an art exhibition gallery. When and where was it
and what did you enjoy the most? What are the benefits of such visits to people and to
countries?

2. An informal letter to a friend describing your dream job. Describe what your dream job
requires you to do and what you aren't allowed to do at work. Give reasons that make
you choose this kind of job.

THE END
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** For items (1-35), read each one carefully then choose from A, B, C or D the correct
answer.

1) In some countries, tablet computers are available for students to use in class. Therefore,
students can use the tablets to do tasks such as showing photographs, researching
information, recording interviews and creating diagrams. Tablets are ideal for pair and
group work. Teachers can perhaps ask their students to start writing an online diary,
either about their own lives or as if they were someone famous.

- The underlined phrase in the text above can be replaced by ....o....... :
A) access B) blog C) program D) calculation

2) Many people are excited about the ‘Internet of Things’. For them, a dream is coming

true. They say that our lives will be easier and more comfortable. However, others are
not so sure. They want to keep control of their own lives and their own things.

In addition, they wonder what would happen if criminals managed to access their
passwords and security settings. The dream could easily become a nightmare!

- The underlined linking word in the text above indicates .............

A) opposition B) consequence - () addition D) cause
3) To............ information is to give the results of your research in a presentation.

A) send B) monitor C) present D) compare
4) Public areas and buildings are now more ............. to people with disabilities.

A) access B) accesses C) accessibility D) accessible

5) You must weara ............. in a car, whether you’re the driver or a passenger.
A) prosthetic B) equipment C) seat belt D) waterproof

SEE PAGE TWO... |
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6) I avoid drinks which are prepared when having my main meals.
A) artifice B) artificially C) artificer D) artificial

7) Abeer teaches Maths. She is a brilliant in my school.
A) mathematician B) mathematical C) mathematics D) mathematically

8) Ali is very good with numbers. He always scores highin ............. .
A) polymath B) chemist C) grid D) arithmetic

is essential if patients are to make a quick recovery.
A) nutrition B) circulation C) dominance D) concentration

10) Several errors in this report need as soon as possible.
A) corrected B) correction C) corrective D) correctly

11) Polite children who behave in a good manner don't or upset any one.
A) make a start B) do a deal O) cause offence D) take a break

12) The land became wonderfully and produce more than enough food.
A) fertilise B) fertiliser C) fertilisation D) fertile

13) People microwaves in their houses since they were invented.

A) have been used B) had used C) were using D) have been using

14) Khalid had his new novel into three different languages.
A) is translated B) was translated C) translated D) will translate

15) We won't be home tomorrow night. We the football match at the stadium.
A) will be watching B) have watched C) have been watching D) were watching

16) Tt is for his work in geometry Al-Kindy is especially famous.
A) who B) that C) where D) when

17) Jordanian children can leave school one year than English children.
A) earlier B) the earliest C) early D) the earlier

18) Could you tell me these new chairs cost, please?
A) how many C) how D) how much

19) Do you mind explaining the sky sometimes looks red?
A) what B) which C) why D) where

that kids only use a small percentage of their potentials.
A) has believed B) is believed C) had believed D) are believed

SEE PAGE THREE...
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21) Fresh meals ............. to be good for concentration.
A) has been proved  B) have proved  C) have been proved D) had proved

22) Fatima wishes she ............. older to participate in the poetry competition.
A) were B) had O)is D) has been

23) Lina took medical training courses in France and then she went back home.
- The sentence which has a similar meaning to the one above is ..............

A) Before Lina took medical training courses in France, she went back home.

B) Before Lina went back home, she had taken medical training courses in France.
C) Before Lina had taken medical training courses in France, she went back home.
D) Before Lina had gone back home, she took medical training courses in France.

24) "' We were painting our living room yesterday."
- The sentence which has a similar meaning to the one above is ..............
A) Marwan told Ali that they were painting their living room the day after.
B) Marwan told Ali that they have been painting their living room the day before.
C) Marwan told Ali that they were painting our living room the day after.
D) Marwan told Ali that they had been painting their living room the day before.

25) The person who won Nobel Prize for Literature in 1988 was Naguib Mahfouz.
- The sentence which emphasises the underlined words is:
A) The year when Naguib Mahfouz won Nobel Prize for Literature was1988.

B) The person who won Nobel Prize for Literature in 1988 was Naguib Mahfouz.
C) It was Naguib Mahfouz who won Nobel Prize for Literature in 1988.
D) The thing that Naguib Mahfouz won in 1988 was Nobel Prize for Literature.

26) Reading detective stories is more impressive than reading plays.
- The sentence which has a similar meaning to the one above is ..............

A) Reading plays is more impressive than reading detective stories.
B) Reading detective stories is not as impressive as reading plays.
C) Reading plays is less impressive than reading detective stories.
D) Reading detective stories is as impressive as reading plays.

27) How can I reorder these events chronologically?
- The correct indirect question of the one above is:
A) Could you explain how I can reorder these events chronologicalty?

B) Could you explain how I could reorder these events chronologically?
C) Could you explain how can I reorder these events chronologically?
D) Could you explain how could I reorder these events chronologically?

SEE PAGE FOUR...
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28) They claim that technology makes our life very easy.
The sentence which has a similar meaning to the one above is ..............

A) Technology has claimed to make our life very easy.
B) Technology is claimed to make our life very easy.

C) Technology was claimed to make our life very easy.
D) Technology is claimed makes our life very easy.

29) I didn't check my car before leaving home in the morning.
The sentence which has a similar meaning to the one above is ..............

A) If only T have checked my car before leaving home in the morning.
B) If only I didn’t check my car before leaving home in the morning.
C) If only I check my car before leaving home in the morning.

D) If only I had checked my car before leaving home in the morning.

30) Before doctors decide how to treat patients ............. they look at the .............. .
‘A) ,/symptoms B) ./semptoms
C) !/ simptoms D) ,/ symptems

31) Treatment and medicines will taste as delicious as real food.
- The underlined words in the sentence above represent one of the following
rhetorical devices:
A) metaphor B) onomatopoeia

C) simile D) personification

32) The thing ............. Aliibn Nafi'............. in the world was the musical theory.
A) that / revolotionised B) which / revolutionised

C) who / rivolutionised D) whose / ravolutionised

33) The majority of the Jordanian economy is ............. by services, mostly travel and
tourism.
A) daminated B) domenated
C) dominated D) duminated

34) The sentence that has been written correctly is:
A) When each side changes their position so that a little they have managed to

compromise they can agree.

B) When each side changes a little so that they can agree their position, they have
managed to compromise.

C) When a little each side changes their position so that they have managed to
compromise, they can agree.

D) When each side changes their position a little so that they can agree, they have

managed to compromise.

SEE PAGE FIVE...
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35) The correctly edited sentence is:
A) By working hard, you will earn the respect of your boss.

B) By working hard. You will iarn the respect of your boss.
C) By working hard; you will airn the respect of your boss.
D) By working hard, you will aern the respect of your boss.

Question Two: (50 points)

Read the following two texts carefully, and then in your ANSWER BOOKLET answer
all the questions that follow each text. Your answers should be based on the texts.

Text One: (25 points)

In many countries, an increasing number of young people and adults are overweight or
even obese. One reason for this is the growing popularity of fast food, which didn’t use to
be as common as it is now. Another big factor is lack of exercise. Modern technology has
also played its part; we spend more and more time focusing on computer screens. Before
the Internet was invented, nobody had dreamt of online shopping, but now we can buy
almost anything without leaving the sofa.

Health experts have been warning about this trend for years, and their advice is clear.
Adults should aim to exercise for at least two and a half hours every week; for children
and teenagers the target should be at least an hour a day. This might not sound very much.
However, recent research shows that less than 50% of the British population manages this.
They recommend a mixture of activities. These should include moderate exercise, such as
fast walking, and more strenuous exercise, like running. They also advise exercise that
strengthens the muscles, for example sit-ups. The more muscle we build, the more calories
we burn, and the fitter we become. In addition, exercise is a great way to cope with stress.

1. The text states different reasons for higher rates of obesity. Write down three of these
reasons. (6 points)

2. Mixture of activities is recommended by health experts to keep fit. Write down two
examples of these activities. (6 points)

3. Write down the sentence which states that British people don't get enough exercise.
(4 points)

4. What is the minimum amount of exercise recommended for adults? (3 points)

S. Increasing awareness of obesity among children is the responsibility of the parents.
Think of this statement and, in two sentences, write down your point of view.
(6 points)

SEE PAGE SIX...
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Text Two: (25 points)

In England, almost 50% of school leavers go on to higher education. The figure has
not always been as high as this. Before 1998 CE, higher education in the UK was
completely free for UK citizens. Since then, tuition fees have been introduced. Most
students borrow this money from the government. They don't have to repay it
immediately. Instead, they pay it back slowly out of future savings.

Despite the high cost, most students choose to study away from home. For most
young people, living away from home means borrowing even more money from the
government. So why don’t students choose to avoid debt by staying at home, where they
don't have to pay rent? Most of them say that they want to move to the university of their
choice, rather than the nearest one. Another strong motive is the desire to live in a new
culture. Where do these students live? Many have rooms in halls of residence, especially
in their first year; others rent flats or houses. A lucky minority live in property that their
parents have bought for them. Most of them need to learn to cook, do their own washing
and manage their time and money.

1. The text states three different places that students may live in when studying away from
their homes. Write them down. (6 points)

2. Students who study away from their home should do some of the daily skills. Write
down two of these skills. (6 points)

3. What does the underlined word (it) refer to? (4 points)

4. Find a word in the text which means ''teaching, especially in small groups''.

(3 points)

5. Students who choose to study abroad face different cultural challenges.

Suggest three possible ways they can do to cope up with these challenges. (6 points)

Question Three: (10 points)
Free Writing:

In your ANSWER BOOKLET, write a composition of about 120 words on ONE of the
following:
1. During the last 100 years, Jordan achieved huge advances in different fields mainly in
health and education. Write an essay discussing the reasons of these advances and their
impacts on Jordanian society.

2. Some people believe that the main purpose of education is to help the individual to
become useful for society, while others believe it should help individuals to achieve their
ambitions. Discuss both sides and give your opinion.

THE END
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% For items (1-15), read each one carefully then choose from A, B, C or D the correct
answer.

1) I came across a ---—---- post the other day which was discussing the importance of

traditional crafts in our modern-day society.
A) blog B) access C) calculation D) filter

2) Homoeopathy cannot produce ------- needed to protect against childhood diseases.
A) risk B) scanner C) symptom D) antibodies

3) Brilliant students always ------- of their teachers from the first class.
A) attend a course  B) spend time C) catch attention D) get an idea

4) The company is certain to reinvest its profits ------- .
A) produce B) productively  C) production D) productive

5) Many megaprojects consist of ------- cities, which will be built according to principles of
sustainable living.
A) artificially-created B) public transport
C) biological waste D) negative effects

6) Children often ------- computers better than their parents.
A) is used B) use C) were using D) had used

7) People have been using smartphones since they ------- in the early 2000s.
A) have invented B) invent C) are invented D) were invented

SEE PAGE TWO...
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8) My family and I go camping once a month, but we stopped doing that when we
moved to the city.
A) are used to B) use to
C) used to D) aren’t used to

9) Joining a gym can be very tiring at first if you doing much exercise.
A) used to B) were used to
C) is used to D) aren’t used to

10) We're late! By the time we get to the airport, the plane
A) will have gone  B) go C) went D) had gone

11) I think there’d be a lot of children would love to have a climbing wall in school.
A) which B) when C) who D) where

12) If all goes well, by June 2022, 1 my university degree.
A) finished B) will have finished
C) had finished D) have finished

13) "Shadi didn’t like the food in the restaurant an hour ago."
- The sentence which has a similar meaning to the one above is:
A) Hazem told Aisha that Shadi hadn’t liked the food in the restaurant an hour before.
B) Hazem told Aisha that Shadi had liked the food in the restaurant an hour before.
C) Hazem told Aisha that Shadi hasn't liked the food in the restaurant an hour ago.
D) Hazem told Aisha that Shadi liked the food in the restaurant before an hour.

14) Maher found studying Maths the most difficult at school.
- The sentence which emphasises the underlined words is:
A) It is studying Maths that Maher finds the most difficult at school.
B) It was the most difficult at school studying Maths that Maher found.
C) It is studying Maths that Maher found the most difficult at school.
D) It was studying Maths that Maher found the most difficult at school.

15) Although megaprojects vary in terms of size and cost many of them have been
because of their negative effects on a community.

A) . / criticised B) , / criticised

C) . / critecised D), / creticised

SEE PAGE THREE...




PAGE THREE

Question Two : (20 points)
Read the following text carefully, and then in your ANSWER BOOKLET answer all
the questions that follow. Your answers should be based on the text.

Ten-year-old Adeeb al-Balooshi, from Dubai, is going to travel to seven countries on a
tour which has been organised and funded by Sheikh Hamdan bin Mohammad, Crown
Prince of Dubai. The boy caught Sheikh Hamdan’s attention with his invention — a
prosthetic limb for his father. The Sheikh has taken a special interest in the boy, and hopes
the tour that he is sponsoring for Adeeb will give the young inventor more self-confidence
and inspire other young Emirati inventors.

Adeeb got the idea for a special kind of prosthetic leg while he was at the beach with his
family. His father, who wears an artificial leg, could not swim in the sea as he could not risk
getting his leg wet. This inspired Adeeb to invent a waterproof prosthetic leg.

Adeeb is going to visit the USA, France, the UK, Ireland, Belgium, Italy and Germany,
where he will be staying with relatives. However, while he is in Germany, Adeeb will not
be spending all his time sightseeing. He will be working with a specialist doctor to build the
appendage. He will also be attending a course on prosthetics and learning about different
kinds of medical apparatus.

Adeeb has invented several other devices, including a tiny cleaning robot and a heart
monitor, which is attached to a car seat belt. In the case of an emergency, rescue services
and the driver’s family will be automatically connected with the driver through this special
checking device. He has also invented a fireproof helmet. This special equipment, which has
a built-in camera system, will help rescue workers in emergencies.

1. Shiekh Mohammed is interested in helping Adeeb for two reasons. Write them down.

(4 points)

2. Adeeb will be doing different things in Germany during his tour. Write down three of
them. (6 points)

3. Quote the sentence which states what inspired Adeeb to invent a waterproof prosthetic leg.
- (2 points)

4. Find a word in the text that means "the technical equipment or machinery needed
for a particular purpose." (2 points)
5. What does the underlined pronoun “where” refer to? (2 points)

6. "He who has health has hope; and who has hope, has everything." Think of this
statement, and in two sentences, write down your point of view. (4 points)

Question Three: (10 points)

Free Writing:

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the
following:

1- Some people like doing some sports which require physical abilities while others
prefer sports which require mental abilities. Write an article discussing the advantages
and disadvantages of each one.

2- Protecting the environment is the responsibility of every member of the society. Write
an article expressing the importance of keeping the environment safe and suggesting
the needed procedures for doing so from your point of view.

THE END
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< For items (1-15), read each one carefully then choose from A, B, C or D the correct
answer.

1. I don’t think I’d be a very good accountant. I don’treally ......... .
A) get cold feet B) have a head for figures
C) play it by ear D) get it off your chest

2. If you want to lose weight, you should ......... exercise every day.
A) make B) give C)do D) draw up

3. In democratic countries, the majority of the politicians ......... their political decisions in
the parliament. -
A) domination B) dominant C) dominance D) dominate

4. Since they had their baby, they have settled happily into ......... .
A) domesticity B) domestic C) domesticate =~ D) domesticated

S. Abeer is very......... for the job. She got the highest grade in the interview.
A) qualified B) qualification  C) qualify D) qualifiedly

6. Business Studies is the ......... subject in the university.
A) many popular B) most popular C) more popular D) much popular

7. There are not ......... visitors to Petra this year as in the last year.
A) as much B) much C) as many D) the least

8. Do you know......... we can take water into the exam?
A) what B) who C) how many D) whether

SEE PAGE TWO...
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9. Watching movies is not as good as reading books.
- The sentence which has a similar meaning to the one above is:
A) Reading books is as not good as watching movies.
B) Watching movies is better than reading books.
) Reading books is better than watching movies.
D) Watching movies is as good as reading books.

10. Where can I find the nearest supermarket?
- The correct indirect question of the one above is:
A) Do you mind telling me where I could find the nearest supermarket?
B) Do you mind telling me where can I find the nearest supermarket?
C) Do you mind telling me where could I find the nearest supermarket?
D) Do you mind telling me where I can find the nearest supermarket?

11. Some writers believe that Shakespeare’s works are about true events.
- The sentence which has a similar meaning to the one above is:
A) Shakespeare’s works is believed to be about true events.
B) Shakespeare’s works are believed to be about true events.
C) Shakespeare’s works believed to be about true events.
D) Shakespeare’s works have believed to be about true events.

12. Asem forgot to do his homework.
- The sentence which has a similar meaning to the one above is:
A) If only Asem hadn’t forgotten to do his homework.
B) If only Asem didn’t forget to do his homework.
C) If only Asem forgot to do his homework.
D) If only Asem had forgotten to do his homework.

13. The sentence which expresses wishes about the present that are impossible to
happen is:
A) I wish we had lived in a bigger flat.

B) I wish we lived in a bigger flat.
C) I wish we live in a bigger flat.
D) I wish we have lived in a bigger flat.

14.1 didn’t do much work for my exam.
- The sentence which has a similar meaning to the one above is:
A) I wish I hadn’t done more work for the exam.
B) I wish I do much work for my exam.
C) I wish I had done more work for the exam.
D) I wish I did more work for the exam.

15. ......... is very important. You should try to eat as much fresh fruit and vegetables as you
can. It’s essential not to become dehydrated ......... so drink lots of water.
A) Nutrition / , B) Nutrition / .
C) Netrition/ ? D) Nutretion / !

SEE PAGE THREE... _
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Question Two : (20 points)
Read the following blog carefully, and then in your ANSWER BOOKLET answer all
the questions that follow. Your answers should be based on the blog.

My name is Anita. Two summers ago, I spent five months studying Arabic at the
German-Jordanian University near Madaba. As my father is originally from Jordan, I grew
up speaking Arabic as well as German. However, I had never studied Arabic formally, and when
the opportunity came up for me to spend a year in Jordan studying Arabic, I didn’t hesitate
for one moment.

I have relatives in Jordan and they arranged for me to stay with-a wonderful family who
live just outside Madaba. I was amazed by the number of international students there, who
were not only from Germany, but from all over the world. Most of them had studied Arabic
to a high level. I'm very familiar with colloquial Arabic, which is what my family speaks and
understands. The Arabic class, in Modern Standard Arabic, was challenging, especially the
grammar. Every week, we had to learn a vocabulary list of around 50 words. We covered
many topics. Living with a family helped to improve my Arabic-speaking skills because I
could practice it at home. I really put my back into it, and I earned an A on the course.

What impressed me most about students in Jordan was their behaviour and their attitude
to studying. All the students who I met appreciated the importance of their university
education and the opportunities it would give them to contribute to their country’s prosperity.

1. Anita mentioned some aspects that impressed her about students in Jordan. Write down
three of them. (6 points)
2. Anita was willing to go to Jordan to study Arabic for two reasons. Write them down.
(4 points)
3. What does the underlined pronoun (them) refer to? (2 points)
4. Find a word in the text which means “being used mainly in informal conversations
rather than in writing or formal speech”. (2 points)
5. Quote the sentence in which Anita states the benefits of living with a family to learn Arabic.
(2 points)
6. International students exchange programme brings some benefits for any society. Suggest
two different benefits of such programme. (4 points)

Question Three: (10 points)

Free Writing:

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the

following:

1. Distance learning forces many families to change the way they follow the learning of their
children. Write an article discussing the previous and the current ways that the families use
to follow the progress of their children learning.

2. Imagine you were in a holiday with your family last week. Write a review of it. Where did
you go? With whom did you go? What were the things you like or dislike? How did you feel
at the end of this holiday?

THE END




